tg(w—a)sen(g+a)+tg(g—a)sen(7r+a) -
cos (T + a) + sen (27 — ) “l‘; E

2
126 [cos (-g - a) + sen (gw - a)] ctg (gw - a) + tg (—a) + cos? <g7r + a)

[‘ SCI]"2 (1}

125

3(™ _ 3 (3. _
sen (2 a)+cos (27r a)

127 3 — cos (—a) — cos (g— + a) (0]

1+ sen (7 + a) sen <§7r + a)

s 2 3

[ctg (— + a) - 1] +2 [ctg (—7r + a) —tg? (r+ a)]

128 2 = %
1-tg(-a)
cos® <§7r + a> + + sen? (E + a)
2 cos (— - a) 2
- 2 [ tgal
1—sen2rw
T

3cos (—a) + 4 cos (7 + a) + sen (— + a) — cos (T + @)

129 2 [ctg al
T 3
sen (o — 2m) — cos (5 + a) — cos (577 + a)
s s s
sen (X +0)+sen(=—a)sena—sen(a—7)—tg(5 —a)tg(—a)
(130 | (2 ) (2 ) 3 (2 ) +
1 —sen (—7r — a)
2
™
+ cos (5 + a) (1]
T 3
sen (a - 5) tg (o — ) + cos (a - —2-71') ctg (a — 27)
[ 131 ] 1

cos (a — ) + sen (a — )



